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THE OPEN UNIVERSITY OF SRI LANKA
- BACHELOR OF MANAGEMENT STUDIES

FINAL EXAMINATION 2009 .
CRO ECONOMICS — MCU 2207
TION: THREE (03) HOURS

L 2 DATE: 20.12.2009 TIME: 9.30 a.m -12.30 p.m

INSTRUCTIONS :
» Answer any five (5) questions only.
o All questions carry equal marks.
e Non programmable calculators are allowed to use.

(1)’ (a)  Whatare the major Macro Economic goals? Briefly explain. (6 Marks)

(b)  “A proper understanding of Macro economic variables and their changes can give
a business management, a better vision of understanding his business
environment and it helps them to make effective decisions”. Do you agree?.

Explain with examples. (14 Marks)

(2} (é.) There are three methbds in measuring National Income. What are they? :
- Explainbriefly. . (6 Marks)
(b)  Details of a three sector economy given as; '
(Figures in Billion rupees)
C=40+08Y {Consumption)
I= 50 (Investments)
G = 60 (Government Expenditure)

i) Find the National Income. c (2 Marks)
ii) Suppose government introduces an autonomous tax of 10 billion (T = 10), .
Find the new National Income. (3 Marks)
iiiy In addition to the autonomous tax, if government introduces an income tax o
10 %, find the National Income. (3 Marks)
iv) Find the Expenditure Multiplier. , (2 marks
v)  Suppose the government opens up the economy and following changes take
place. : o

M =20+0.1Y (mports)
X =60 (Exports)

Find the new National Income -

(3) (a)  Using illustrations, explain whether the following statements are true o1 false.
) Under Liquidity Trap, monetary policies are highly effective and fiscal

policies are completely ineffective. _
(i) When demand for money does not depend on interest rate at all, fiscal

policies are highly effective and monetary policies are completely
ineffective. . (10 Marks).
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Using illustrations, explain how the income and interest rate change under
following given conditions.
@ Average price level in the economy increases.
()  Central Bank reduces the market interest rate.
| (5 Marks)
Explain the following '
[ Demand - pull inflation
(i) Cost-push inflation
- (6 Marks)
(b)  “Theactual inflationary process contains some elements of both Demand- Pull
and Cost- Push forces”. Do you agree?
‘Explain this in relation to the inflationary trends in Sri Lanka for the last twelve
- months. ' _ _
o _ - (14 Marks) - -
i 6) (@ Whatarcthe phases of a Business Cycle? Briefly explain. (5 Marks) -
(b) Explain the Keynes theory of business cycle (5 Marks)
()  Explainhow the monetary and fiscal policies can be used to control cyclical
(10 Marks)

fiuctuations in the economy.

© ( Defincthe following.
‘ (i)  LabourForce Participation rate

(i) = Natural Rale of Unemployment : '
| (6 Marks) -
@)  Explain why the official unemployment rate fails to measure the true level of
unemployment. o (8 Marks
©) Explain the stcpsthatcanbetakentoreducethslevclofSuuctmalandInduced

of the Keynesian approach from the Classical
and the price level? Explain using illustrations.

(7) (2 Whatis the major difference
(10 Marks)

approach on the moncy supply

(b) An actual Ievel of output in an economy is 200 billion less than the full
employment level of output which is 1000 billion. Explain how the governm

can bring the economy to full employment level through;

1)) Changes in government expenditures and
(i)  Changes in taxes. .
inal propensity to consumer MPC)=038
What are the advantages and disadvantages of these two approaches?
: (10 Marks
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